NC  LAeg

roomA roomB

roomA Im 5m roomB
5m 13m
42dBA
SN  3dB -4.5dB/oct.
LAeq
45dBA

2004

30045
(m?) (m) (m*) (9
roomA 20.6 35 69.3 0.60
roomB 1235 64 74 790.1 0.90

16380mm

6370mm

109201

roomA roomB
1 125Hz
2 4kHz
im 42dBA | 45dBA
3
-4.50B/oct.
4 *
42dBA
5 125Hz
6 4kHz
. 49.3dBA| 50dBA
8 *
A
- A L

10l0g;0

/100)




-0.94) -0.08 0.24 F |p F |p
- -0.91 027 0.4y 1 003 085 1| 482 003 *
£00 010 0.13 1 018/ 067 1 0.00] 0.97
O -046 040 1] 1.09] 030 1/ 4283 000 **
. 0.07 =088 -0.56 311320, 0.00] ** 3/21.94 000 **
0.00 -0.85] 0.29
11 9.85 0.00] ** 11) 468 000 **
0.40 -0.84) -0.26} "
048 o 033 x 3 0.6/ 0.85 3| 329 0.02
ool oA 0.0l x 1] 204 015 1) 158 021
5%
- -0.07] 0.36 0.88 1%
- -0.48) -0.11] 0.82
4,01 3.76 2.11]
36.46) 34.17 19.17]
36.46 70.63 89.80)
im
5m
roomA roomB
5%
roomB 13m
125Hz
roomA roomB
1.00 pra— 1.00 — 5%
0.00 |y A 000 " .
‘\V'/t R N
-1.00 100 | oa xg A
2.00 — 2.00 / \,,4
3.00 3.00 45dBA 50dBA
-4.00 -4.00
-5.00 L L -5.00
g”ig’@ @Q;O@ o \i@‘b& @”&J’& o 45dBA  50dBA
cf-’ cf" <>0 & & \d)& \d)é‘
45dBA 50dBA
—+—125Hz —=— 4kHz —»— —%—
1.00 1.00
0.00 000 | , = -
-1.00 1.00 i
2,00 2,00 |
-3.00 3.00 \\,,/.
-4.00 -4.00
-5.00 .00
»6‘“‘\9}“%@ SRR
@’ ST I L
<>° <>° oo S S 35dBA  40dBA

‘ —+—450BA —=— 50dBA ‘




